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He cannot marry a nnsw — 127 1N DY NRY

OVERVIEW

v"2 challenged the ruling of 7"2 (regarding a 1717 12 1°¥mM 72V 1X) that he serves
his master one day and himself one day. The 72y will not be able to be 0>pn the
mxn of °1™1, since he (cannot marry a 17117 N2 and) cannot marry a arow. It would
seem that if the 72y would be able to marry a 7now, then there w"2 would have no
issue, for he could be 71"15 n1¥n 0>pn with the Andw. Our MdOIN explores this issue.

Mmoo anticipates a difficulty:
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And even though 21 states in 10723 % X277 P75 -
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That all agree regarding an °1v1> 72p that he has no lineage and did not fulfill

the Mxn of 9'"18, for the children he bore as an 72¥ have no relationship to him -
— ‘99NN ONYIN TNV 1999 0P XY NNAY XY ON 23 NN

So here too (by the "1 72 °xn7) even if he will marry a n°1vi1d anew and have

children with her he will not have fulfilled 2"1o since the child is linked to her
(and not to him), why therefore do w"a say 712° 1°X nnow X2, since even if he could marry a
19w he would still not fulfill 2"5!

mooIN rejects a possible solution to this question:
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And the 72v would not fulfill even the directive of naw, as it is indicated there in

" The xm3 there discusses a "3 who was 23nn together with his children; if it is considered that he was already 2»p»
7"9 N (because of the children he had as a "1); *"1 maintains he was 0>*pn and "3 argues.

? Regarding an 72y even "1 agrees that he was not 1"19 0»p» with the children he had as an 72v.

> We derive this from the P09 (in 71,23 [X7] n*wx12) which states ma oy 79 03 12w; which we interpret to mean
that 07728 72¥ TYHR was an NN 77T oY (a people similar to a donkey) that he has no om.

* The child of a oW is always a nnow even if the father was a X7 (an 2y 72V), as the 77N writes ( [2°vown] nnw
7,82) that 7°NIXR? 770 72791 (N9Ww) AWK, but not to the father (the ¥"v) . Therefore even though the 72y is a 12 Xm0
1", nevertheless the child cannot relate even the 71 32 1°¥m, since he is the son of a nnow, and the child can
certainly not relate to the 72y ¥ for 0> 17 1°X 72, There is no 2™ avp for the 72v.

> w"a challenges 7" that if the 72y cannot marry anyone he will not fulfill the obligation of (77%> naw®) naw. The
X713 in N2 is discussing the m1%¥n of 1™, Perhaps we can differentiate that an 72y cannot be 1"19 0»pn (since 12 PR
0>1), however he can be naw o»pn ([even] with children from a amdW).

% The xaa there cites a X012 that 71"2 maintain (according to 101 ') that one is 1"19 0»p» with having either a son or
daughter. X211 explained the reason he fulfills 1"19 is because it states 77%> n2w? and he fulfilled the naw; indicating
that naw and "9 are interdependent with each other. 7" is fulfilled when naw is fulfilled, and when 1" is not
fulfilled naw is not fulfilled (for if n2W can be fulfilled without 7"19; how can we understand X27).
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mn2 'on that naw is dependent on 2'"12. The question remains why mention 7mow Xw>H
91> 1%, when even if 213 he is still not 2" (n2w) o»pn.

mooIn responds:
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Nonetheless (if the 72y was permitted to have children from a anow), says the 3''9
that we would not force the master to free him on account of 2"\ -
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If the 72y was capable of fulfilling a minimal naw, since he is coerced.

SUMMARY
If the 72¥ would be permitted to marry a ar9¥ and observe a minimal naw (for he
cannot have a proper nav), the owner would not be coerced to free him.

THINKING IT OVER
1. Why is it if the child is not or>nn after the father (like [mown] 72v7 12), he is not
naw o»pn properly, but he is 1777 %2 naw opn?'°

2. Is there an example'' of where he is not an 01X and is %17 %3 naw 0»pn and "2
will coerce in order to be 1"o o»pn.

3. Does the exemption of an 013X mean that for the 01X there is no M¥n, or that the
%7 remains but he is not punished for transgressing it?'*

7 The n"27 mx7 amends this to read, 897 (instead of X?).

¥ He cannot marry a 7 N2 (since he is a 72y °¥m), but since (if) he could marry a 7n9w and preform a minimal naw,
there would be no obligation on the owner to free him. However, now that he cannot even marry a 715w and can
have no children at all (not even a minimal na¥), we coerce the master to free him.

? It is the duty of 7" to see that the mn (of 1"19) are performed. If the person is not 0pn even 77 72 Naw then 7"
coerces to be (1"10) apn even if he is an 01X (as in the actual case of "2 *¥xm 72y >¢1). If he is an 01K and is 2™pn
177 92 naw, then 7">2 will not coerce (in the case if the "2 *¥m 72v >%1 could have a nnow). [If he is not an 01X and is
177 93 naw o»pn, 72 will coerce him to be (1"19) o>pn (see ‘Thinking it over’).]

' See 2m mx 7"210.

' See footnote # 9.

2 See vy O R, See also ‘Thinking it over’ # 1 in the following X 7"7 'on.
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